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[3] Question three: (10 Mark) [

A- Explain the Cathode Ray Tube and then explain J.J. Thomson Cathode Ray tube

Experiment. (4-marks) .

B- How can be Build a Current Mirror Circuit with: illustration the importance of caveat for
current mirror circuit? (Sketch the circuit diagram). (ﬁmarks)

n A}

| &
C- Define the power electronic devices, then compare between the small signal diode and
shottcky diode. ( 2-marks)

[4] Question four: (10 Mark) [z

A- Sketch the circuit diagram of Vacuum Tube Audio Amplifier and explain the following
( 5-marks)
- One of the problems with building vacuum tube circuits.
- Why using two coupling capacitors instead of just one adds?
- Electronic tubes devices used sockets, why?

B- Design high voltage plate dc powef supply at 170 volts. What the bad aspect of using an
ignition coil. ( 3-marks)

C- Compare between the traditional tube and microwave tubes? ( 2-marks)

uBestWishes.. . .. . Committee of Correctors and Testers .

Dr. Noha El-shalaby A&J‘ $

Dr. Shamia Ghamry A D
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